A

SN CR(EH) - NRAY - BES

Ofl &4

20
B
2

= HnH

25,034,219
150,000
585,290

24,298,929

26,827,959

1,793,740

= M

23,262,169

362,290
22,899,879

25,861,210

A2,599,041

= H

22,817,654

362,290
22,455,364

25,478,889

AN2,661,235

=z H

8,580

5,290
3,290

7,680

900

101 Q12|

= H

8,580

5,290
3,290

7,680

900

04 JIZHHZ2XHSE=

O8X:d nEg XA 33,0003 *4 2 +65H

=

8,580

8,580

5,290
3,290

7,680

900

Jg
>
i
rx
i
124
T
0z
ol
=
0
T
S

= H

800,000

238,000
562,000

700,000

100,000

307 2iz2tol A

=z H

800,000

238,000
562,000

700,000

100,000

Mo kA
oy

>
o
ot

O

o
©
H0

JE A
110
X

0
t
|
HL
>
oy

=

800,000

800,000

238,000
562,000

700,000

100,000

HASAME XA (EXR)

= H

238,000

119,000
119,000

238,000

307 2iz2tol A

=z H

238,000

119,000
119,000

238,000

P
oy

=
0X H
baal
o
o

@)
&£

o
[Ce)
H0
1>
[> 12

=

238,000
238,000

119,000
119,000

238,000

Hsns 222l (XHAl)

38,660

83,660

A45,000

202 (4Hl

8,160

8,160

01 =LHAOYI

Ollzns=2dge=d

(]

i

8,160
8,160

8,160




SN REBHD
g Hsusel
el HEuns Ml (ctel: &
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
203 ¥R =&l 2,000 1,500 500
03 AZFXHRFAH| 2,000 1,500 500
Ollsns gf=ad 2,000
207 AN 7,000 57,000 250,000
01 &S| 7,000 57,000 250,000
OUISHASH &M NES 7,000
301 et asg 4,000 0 4,000
10 HALAHIE &= 4,000 0 4,000
QuE2+3AMA HEWS 20,0003 200 4,000
307 QI2t0IA 17,500 12,500 5,000
02 2ItBAE X 17,500 12,500 5,000
ORg2dAs WSHEINE & sE2+2 A 10,000
OgdRs nsetdiE 2,500
Odlg8sXsl WEtEXE 2,500
O=sM4HUS 0elol Sotw nsSetd XS 2,500
HEns MEXS(XEA) 20,279,336 22,002,566 A1,723,230
307 GI2t0I A 20,279,336 22,002,566 A 1,723,230
05 BItRE = 51,600 0 51,600
OAMUHA WSIHE FX2te
1,000,000& 123 12,000
OHAHZEAIAE(BIS) RAES
3,300,000 x12& 39,600
09 2HAHEX3 20,227,736 21,992,126 A 1,764,390
OltsHA 2dHEABENF 168,000
OANUHA S2HEAENS 600,000
O & oI=H RIHEXS 19,429,736
OANJAHAHDIE Al & e X 30,000
wnSE Aldzel (KHA) 1,318,078 1,805,483 A487,405
101 QI Z4H| 2,475 2,400 75
04 JIZHMIZZ2XEE =+ 2,475 2,400 75
O3g=X& |A 2l L EAMMA
33,0003 x5 x15H 2,475
201 B3| 149,871 172,643 AN22,772
01 AtR22lHl 12,100 12,170 AT0
Oget=gH| 6,000
—3SG=XE F=XA el 1,500% *4,000H 6,000
o2g=+¢ 700
—BISHIStA EIIR R &=
70,0002 *10H 700
ogx=z 5,400




SN DEHEY
M EnE
&2l HEnsE AdlA (e E2
SA - Ao (F) - NEAY - Ba S Ao S H RS2
0 & o
—SE=XE AU Xt
30,0003 *x20CH x53] 3,000
—3E=IE EMMAE Z3d e IXt
300,000& »2CH x4 3] 2,400
02 3224l 137,771 160,473 A22,702
O0=232z= £ WA 81,779
-85S MIIRE 21,1903 5404 A +120H 3 13,732
—ZES MIIRE 21,1903 *95 A*120H 3 24,157
—BISE S A CHLD| 2HY SAe3
30,0003 550 A+ 12 19,800
—BISEZA 2tUI| &R
20,0003 5500 A+ 12 13,200
—BISH A COMA S4ld|
16,500 #5504 A~ 123 10,890
OAEEEIS N 55,992
~TYFHE A Ba4H L RN
13,000 *4t*8=* 123 4,992
—wWESASI| FA&eldl 500,000 «5200 A 26,000
R TEEY EE
200,000 *50H 2~ 10,000
—HASZE KX 22l 100, 000-& * 15094 15,000
401 AIEHIZ 2 1,165,732 1,609,440 A443,708
01 Al&t| 1,165,732 1,609,440 N443,708
OHAsSZE &X 11,000, 000& *32J4 352,000
BtALE 2 & &X 77,432
—BtALE 2 168,060 *2007H4 33,612
—BHALE & Xl 219, 100& 2004 43,820
OZEs &X 6,000, 000& *304 2 18,000
OusotdEX#H 41 & B 40,000
—WSeHM T X B AX| 200,000 * 1004 20,000
—nESHNMEX T B 100, 0002 *2007H4 20,000
Oxe,=XE 5 &M 511,000 »300km 153,300
OLHEXY 20,0003 *2,5004 50,000
OosgE=s & 100, 0002 100K 10,000
OZMMIIEXNE AX L 22 200,000 *50H4 10,000
OsYEcU sFE==AE &EX
200, 000& *50H 10,000
OglcdE8s ZHEX 1,000,000 =104 10,000
OMO0III 2235 44Xl 2,000, 0002 54 10,000
ORNSIEEX 35,000,000 *37H 2~ 105,000
OHAZEAIAE FFJALIIEXI (2004 4) 260,000
OMOIl 2 {E)| @= DA
3,000,000& 104 30,000




wsHI
Sus2c
EWS MHIA (Etel: &)
N2 9 (8H) - HRAY - B 0f & o Soe DB
O=k25ad A7t AIZT] HS
30,000,000 30,000
SE=XE X (KA 135,000 301,500 A 166,500
401 AIEHIZ R0 135,000 301,500 A 166,500
01 A&l 135,000 300,000 165,000
OIS BEZERE SX  20,000,0008 +55H A 100,000
OZgd Col=xa M3 Y Bela Yoo
CoFEXE MI0 L 2ela Hul 35,000
AXEAN =E 355,115 323,421 31,694
g =X KNS (XHA) 355,115 323,421 31,694
101 el 24| 101,925 92,971 8,954
04 JIZHNZZ2XASE= 101,925 92,971 8,954
O=sg=8I1t &= 101,925
—Jles 40,8103 210 8L 68,561
—Fi=g 40,8103 42 «8H 13,713
PN 40,810 x 10 «8H 3,265
—sd=¢ 40,8103 +1.5+152 8 7,346
—2tAH| 3,000& 210 x8 5,040
—Iol=l 250,000 23| «8H 4,000
201 B2 86,840 80,950 5,890
01 AtS2t2iHl 28,220 25,000 3,220
ogst+gH| 16,500
—E=HIL BEHE 22 15,000
~ DR REHYE SeLaE
3,000 »2502 «22] 1,500
O=etl 6,720
—SYHFEX =2 7,000& +8Hx10 x 12 6,720
ogxs 5,000
—SCEIX Hdel= 50,0002 = 100CH 5,000
02 232234l 58,620 55,950 2,670
O332= & HAl 58,620
—UXA 28 RER 25,000
—gsE fdE= 5,000
—CCTV &84 MEZ 93| 6+200,000& 12 21,600
—CCTv &Ed &lles
92/ & %15,000& x12& 1,620
—CCTV = Al 50,000« 12& 5,400
202 O 6,000 5,000 1,000
01 =LHAOYI 6,000 5,000 1,000
O=LHHH 6,000
203 YR FY| 1,000 1,500 A500




SN REBHD
g Hsusel
Chlr FEXEAN 2 (el &2
SN I SRI(S) - NRAY - B 01l &t o Soe B RS2
03 AZFXHRFAH| 1,000 1,500 A500
O=8+F8i AN-HSYSR FA 1,000
301 EtE& = 20,000 26,000 26,000
12 JIEtEA S 20,000 26,000 26,000
OZUH=A 243 20,0008 *10H 102 102 20,000
401 Al&HI LS OHYI 75,000 77,000 22,000
01 Al&H| 75,000 77,000 22,000
OFXsXNEXE 4 & Fl
300,000 *50H 15,000
OCCTV NHSSHAIAE 2F 10,000, 000& *5CH 50,000
OCCTV &AtEtal BorEX| (191 a) 10,000
405 KHoHESHI 64,350 40,000 24,350
01 T =S H SHI 64,350 40,000 24,350
OFXeEx2 wH(1th) 26,400
OMYUENE XNSHSEEI|AIAL R (14]) 35,000
OFxes MHEELEI 2L (U 1,200
OFXts &I 7Y 350,000 *5CH 1,750
gss2el 89,400 58,900 30,500
eSS (XHA) 89,400 58,900 30,500
201 Let2d| 81,400 52,900 28,500
01 AtE22(Hl 24,400 16,900 7,500
Oget=ZH| 22,800
—tEHE XA I 80& *15,0000H *42] 4,800
—HMEuEeE DKM I
80& *30,0000H x22] 4,800
—QIRMA QI (158) 2,000, 000& 43| 8,000
—NsXdAEE 29 400,000 *43] 1,600
~BER SSHAS B £42
3,000& 60024 23l 3,600
o1ul=y| 1,600
—XHESE URAEF 2= 400,000& *4H 1,600
02 2234l 57,000 36,000 21,000
O232= ¥ HAl 57,000
—ASXHENLTAMINAUEHSRUR=SE DX
4,000,000& =128 48,000
—HEA (4. 5t80]) fEHE
4,500, 000& 23| 9,000
202 O4H| 8,000 3,000 5,000
01 WY 8,000 3,000 5,000
OXsitztd MYuths SEd =+ 8,000
wEetAt2tel 1,311,050 907,800 403,250




_ _ HE T
SN CR(EH) - NRAY - BES Aol e HZ2
= 150,000
= 223,000
Al 938,050
wWEAN0IsH 2F ,311,050 907,800 403,250
= 150,000
& 223,000
Al 938,050
SHUSHHUHTUARI(BX) 210,000 175,000 35,000
< 105,000
Al 105,000
405 AHoHESHI 210,000 175,000 35,000
& 105,000
Al 105,000
01 MHARESFSH 210,000 175,000 35,000
OS8us=H e 35,000,000 ~6CH 210,000
= 105,000
Al 105,000
HA O HXH X (2X) 730,000 540,000 190,000
= 150,000
= 118,000
Al 462,000
307 S12t01& 160,000 0 160,000
= 28,000
Al 132,000
09 2+EAHAELS 160,000 0 160,000
OM&HA 238 X 20,000,000 8CH 160,000
< 28,000
Al 132,000
402 22t =01 570,000 540,000 30,000
= 150,000
< 90,000
Al 330,000
01 BItGE2EX 570,000 540,000 30,000
OM&HA HHXH XI& 190,000,000 *3CH 570,000
= 150,000
= 90,000
Al 330,000
SENESHEAR G (XA 371,050 192,800 178,250
201 et 1,050 700 350
01 AtS22iHl 1,050 700 350
Quss0IsEe &
003 »5& «32] 1,050
307 Q12t0lH 370,000 192,100 177,900
05 2IRIRAES 370,000 192,100 177,900
OSERE+H e 370,000




SN DEHZIY
HE: SA2SAYRE
Sl BAIRSAY HHSY (25l &2
- — _ XN H
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 Oﬁﬂgg bRz
A2 S AR e 393, 160 0 393, 160
AR SAIY HHS A 393, 160 0 393, 160
A2 S A XIH (R 393, 160 0 393, 160
201 LBty 560 0 560
01 ALR eIt 560 0 560
OMAHAIH G AR RS & M2
70,0002 +8% 560
207 1Tt 15,000 0 15,000
01 SRS 15,000 0 15,000
OZJISHH 2HEE)HASSH MESS 15,000
301 LPB A 200,000 0 200,000
12 JER A3 200,000 0 200,000
OSANZR B42 20,000, 00021 *10CH 200,000
402 QIR 20IH 177,600 0 177,600
01 PIAX=EE 177,600 0 177,600
OSAAA ZHI(2SIIZH) S SIS
400, 0002 *444CH 177,600
HHS AR (RSB D) 67,840 58,949 8,891
ol 2| 4,200 4,200 0
ol 2| (XHA) 4,200 4,200 0
203 HRFY| 4,200 4,200 0
04 ENRYAREAY| 4,200 4,200 0
ORN2YYLETY) 350,000% 122 4,200
p[CET 63,640 54,749 8,891
=2 H (R 63,640 54,749 8,891
201 Yer2 YY) 22,920 15,009 7,891
01 A2l 22,608 15,009 7,579
Ogsragt| 16,608
—RA2YII2HY 16,608
SEET 6,000
—DEBFALET S| 6,000
2 222l 312 0 312
OZzZ22 2 MA 312
— AgysrNE 26,0002 122 312
202 04t 40,720 39,720 1,000
IENETI 36,400 35,400 1,000
O2U oIl 36,400
02 =% of| 4,320 4,320 0




[}
R’

ok
ol

=]
RO
o

10
E

= RO

R0 80 D
60 OH &
10 &0 THJ
ERN

SN

X
o T
=

e

n0

KIo

Bl w

LH3r
m<l
Rk

=
o

s

<J

4,320

OZ A0




